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SECTION 1 - SECTION 1

Question No.1 (Question Id - 32)
Taliban was founded in the city of :
(A) O Kandahar (Correct Answer)

(B) O Jalalabad
(C) O Bamiyan
(D) O Herat

Question No.2 (Question Id - 58)
Find the odd one out :
(A) O Mali
(B) O Burkina Faso
(C) O Haiti (Correct Answer)
(D) O Rwanda

Question No.3 (Question Id - 64)

Match the following :

List - 1 List - I
A. China |l Tiber
B. Britain |ll. Hwang ho
C. ltaly Ill. Danube
D. Austria |IV. Thames

Choose the correct answer from the options given below :

A)O A-I,B-Il,C-llILD-IV

B)O A-I,B-1V,C-I,D-Illl (Correct Answer)
C)O A-I,B-IlIl,C-IVv,D-1li

)

(
(
(
(D)O A-1,B-1,C-1Il,D-IV

Question No.4 (Question Id - 8)
In which city can you visit the Sagrada Familia church ?
(A) O Barcelona (Correct Answer)

(B) © Madrid
(C) O Paris
(D) O London

Question No.5 (Question Id - 46)
Find the correct alternative :
conversant : acquainted : : absurd : __?




(A) O ridiculous (Correct Answer)
(B) O happy

(C) O attend

(D) O free

Question No.6 (Question Id - 67)
Which gulf country hosts the largest number of Indian expatriates ?
(A) O Kuwait

(B) O UAE (Correct Answer)
(C) O Kingdom of Saudi Arabia
(D) O Qatar

Question No.7 (Question Id - 80)
The beginning of the sentence is provided. Arrange the options provided in proper order

to make the sentence meaningful :
| read an advertisement that said
A. Posh, air-conditioned

B. Gentleman of taste

C. Are available for

D. Fully furnished rooms

The proper sequence is :

(A) O A,D,C,B (Correct Answer)
B)O C,D,A,B
(C)O B,AC,D
(D)O D,C,A,B

Question No.8 (Question Id - 26)
Who were the first Europeans to arrive in Japan ?
(A) O Spanish
(B) O French
(C) O British
(D)

D) O Portuguese (Correct Answer)

Question No.9 (Question Id - 82)
What is the meaning of rancour ?
(A) O Bitterness (Correct Answer)

(B) O Joy
(C) O Sweet
(D) O Beauty

Question No.10 (Question Id - 17)
Who got the Nobel Prize for literature in China ?
(A) O Lu Xun

(B) O Baldin
(C) O Mo Yan (Correct Answer)
(D) O Guo Moruo

Question No.11 (Question Id - 25)
The Japanese term ‘harakiri’ refers to :




(A) O The Japanese flag

(B) O The constitution of Japan

(C) O The act of suicide (Correct Answer)
(D) O Kite flying

Question No.12 (Question Id - 47)

Fill in the missing word :
Wax : Candle, : Paper

(A) O Tree

(B) O Pulp (Correct Answer)
(C) O Bamboo

(D) O Wood

Question No.13 (Question Id - 37)
The word Harf, common to Urdu/Hindustani language means :
(A) O Sound

(B) O Word
(C) O Letter (Correct Answer)
(D) O Sentence

Question No.14 (Question Id - 87)
Detect the mistake in the following sentence :
The captain along with his team are practicing very hard for the forthcoming matches.

(A) O The captain along with his team
(B) O Are practicing (Correct Answer)
(C) O Forthe

(D) O Forthcoming matches

Question No.15 (Question Id - 52)
ISRO plans to complete India’s first manned Mission to space by December 2021 under

(A) O Aakashganga Project

(B) O Indradhanus Program

(C) O Gaganyan Project (Correct Answer)
(D) O Antariksh-seema Project

Question No.16 (Question Id - 35)
Amir Khusrau belongs to Silsila.
(A) O Saharwardi

(B) O Firdausi
(C) O Chishti (Correct Answer)
(D) O Nagsbandi

Question No.17 (Question Id - 9)
Lenin's mausoleum is situated in :
(A) O Leningrad
(B) O Moscow (Correct Answer)
(C) O Saint Petersburg
(D) O Novgorod




Question No.18 (Question Id - 3)
The official residence of the South Korean President is known as :
(A) O Green House

(B) O Blue House (Correct Answer)
(C) O Red House
(D) O Hour of Four Colors

Question No.19 (Question Id - 20)
Fill in the missing word :
2020 is the year of in China.

(A) O Rabbit

(B) O Pig

(C) O Snake

(D) O Rat (Correct Answer)

Question No.20 (Question Id - 16)
Who wrote Faust ?
(A) O Goethe (Correct Answer)

(B) O Schiller
(C) © Humboldt
(D) O Hegel

Question No.21 (Question Id - 56)
Who won the Australian Open Grand Slam in 2020 ?
(A) O Roger Federer
(B) O Novak Djokovic (Correct Answer)
(C) O Rafael Nadal
(D) O Alexander Zverev

Question No.22 (Question Id - 85)
Fill in the blank :
There have been floods in the region triggered by rains.

(A) O incessant (Correct Answer)
(B) O gradual

(C) O quick

(D) O dramatic

Question No.23 (Question Id - 38)
The only Arab novelist who won the Man Booker Prize for the English translation
of his/her Arabic novel titled Celestial Bodies in 2019 is :

(A) O Jokha Al Harthi (Correct Answer)
(B) O Ghada Al Samman

(C) O Liana Badr

(D) O Ahlam Mosteghanemi

Question No.24 (Question Id - 73)
In a given language gorblflur means fan belt, pinxngorbl means ceiling fan, arthtus/
means tile roof, which word could mean ceiling tile ?

(A) O gorbltusl




(B) O flurgorbl
(C) O arthflur
(D) O pinxnarth (Correct Answer)

Question No.25 (Question Id - 48)
Pen is to poet as needle is to :
(A) O Thread

(B) O Tailor (Correct Answer)
(C) O Button
(D) O Sewing

Question No.26 (Question Id - 13)
Who wrote Phenomenology of Spirit ?
(A) O Hegel (Correct Answer)

(B) O Fichte
(C) O Kant
(D) O Heidegger

Question No.27 (Question Id - 83)
My daughter from jaundice since December.
(A) O has suffered

(B) O have been suffering
(C) O was suffering
(D) O has been suffering (Correct Answer)

Question No.28 (Question Id - 29)
Pashto Language is spoken in which of the following countries ?

A. Afghanistan
B. Iran

C. Turkmenistan
D. Pakistan

Choose the correct answer from the options given below :

(A) O A and D (Correct Answer)
(B) O BandC
(C)O CandD
(D) O BandD

Question No.29 (Question Id - 63)
The Dada Sahib Phalke award is associated with which of the following field ?
(A) O Films (Correct Answer)

(B) O Environment
(C) O Social Work
(D) O Politics

Case Study - 30 to 33 (Question Id - 98)

Yoga is an ancient Indian tradition that aims towards a healthy mind in a healthy body. It has been
part of the lifestyle of Indians from time immemorial. The act of practicing yoga has an impact on an
individual's mind, body and soul. The word “yoga” comes from Sanskrit and means “join” or “unite”, to
symbolize the unity of the body and consciousness.




Yoga was founded by Patanjali very many centuries ago, during the pre-Vedic times. He codified
yoga practices in the Yogasutras. Today it is practiced practically all over the world in different forms
and continues to grow in popularity.

The International day of yoga is celebrated on June 215t every year since 2015. Its aim is to raise
awareness worldwide about the benefits of practicing yoga. June 215t is the day of the Summer
Solstice when the earth's axis in the northern hemisphere is the most inclined towards the sun.
According to yoga practitioners, this is the most appropriate and fruitful time for meditation.

Question No.30 (Question Id - 99)
Fill in the blank :
Practicing yoga contributes to .
(A) O development of the soul
(B) O physical strength
(C) O holistic development (Correct Answer)
(D) O mental stamina

Question No.31 (Question Id - 100)
As per the text, the concept of “yoga” represents :
(A) O The harmony between our mind and soul

(B) O The connection between man and his surroundings
(C) O The benefits drawn from the position of the earth with regard to the sun

(D) O The harmony between our physical being and awareness (Correct
Answer)

Question No.32 (Question Id - 101)
Patanjali was the first person to yoga.
(A) O explain the norms of practicing (Correct Answer)
(B) O practice
(C) O teach

(D) O record how people practiced

Question No.33 (Question Id - 102)
Every year, the International day of yoga is celebrated on June 215t because :

(A) O ltis the longest day in the northern hemisphere (Correct Answer)
(B) O ltis the most auspicious day for Indians
(C) O ltis the day when the sun is not visible in the northern hemisphere

(D) O ltis the day Patanjali was born

Question No.34 (Question Id - 10)
The first woman cosmonaut was :
(A) O Nadezhda Krupskaya
(B) O Valentina Tereshkova (Correct Answer)
(C) O Raisa Gorbacheva
(D) O Anna Karenina

Question No.35 (Question Id - 51)

‘Walk to Work on Wednesday’ initiative was started by the Chief Minister of which Indian
State ?




(A) O Nagaland

(B) O Sikkim

(C) O Meghalaya (Correct Answer)
(D) © Manipur

Question No.36 (Question Id - 86)
Give the equivalent for the underlined expression :
The detective left no stone unturned to solve the case.

(A) O Took no pain

(B) O Did very irrelevant things

(C) O Resorted to illegitimate practices

(D) O Used all available means (Correct Answer)

Question No.37 (Question Id - 54)
Which is the longest mountain range in the world ?

(A) O Sierra Nevada

(B) O Himalayas

(C) O Andes (Correct Answer)
(D) O Rocky Mountains

Question No.38 (Question Id - 90)
Fill in the blank with the appropriate preposition.

The lady walked the bushes.
(A) O above

(B) O near (Correct Answer)

(C) O under

(D) O away

Question No.39 (Question Id - 43)
Rohan’s mother is the only daughter of Monika’s father. How is Monika’s husband
related to Rohan ?

(A) O Uncle

(B) O Father (Correct Answer)
(C) O Grandfather

(D) O Brother

Question No.40 (Question Id - 61)
Renukaji Multipurpose Dam project is a project to be constructed over and
two of its tributaries.

(A) O Ganga

(B) O Yamuna (Correct Answer)
(C) O Brahmaputra

(D) O Godavari

Question No.41 (Question Id - 27)
Which of the following is not a Japanese dish ?




(A) O Chijimi (Correct Answer)
(B) O Sukiyaki

(C) © Shabu Shabu

(D) O Tempura

Question No.42 (Question Id - 36)

Name the Persian poet who has Divan in all the three languages : Persian, Arabic and
Hindi.

(A) O Masud Saad Salman (Correct Answer)
(B) O Saadi

(C) O Nasir Khusrau

(D) O Jami

Question No.43 (Question Id - 84)
Select the most appropriate meaning of the proverb ‘A cat has nine lives’ :

(A) O A cat can survive seemingly fatal events (Correct Answer)
(B) O A cat cannot survive fatal events

(C) O A cat lives nine times

(D) O Cats are lucky creatures

Question No.44 (Question Id - 74)

If in a certain code language ‘WIND’ is written as ‘414923’, ‘SAND’ is written as ‘414119’,
then how will ‘FASHION’ be written ?

(A) O 1451981916
(B) O 1415989161
(C) © 1415981961
(D) O 1415981916 (Correct Answer)

Question No.45 (Question Id - 18)
Principle of “Peaceful Reunification” and “One Country, Two systems” was put forward
by :
(A) O Deng Xiaoping (Correct Answer)
(B) O Hu Yaobang
(C) ©O Mao Zedong

(D) O XiJinping

Question No.46 (Question Id - 41)
Fill in the blank of the given series with one of the options given below :

16,4,25,1, .0

(A) O 36 (Correct Answer)
(B) O 49

(C)O 9

D)o 0

Question No.47 (Question Id - 77)
Complete the following sentence.
| have decided to set a new business.

(A) O in
(B) O off




(C)O on
(D) O up (Correct Answer)

Question No.48 (Question Id - 24)
Which monument in France was partially destroyed by fire in 2019 ?
(A) O Notre Dame de Paris (Correct Answer)
(B) O Louvre
(C) O Versailles Palace
(D) O Eiffel Tower

Question No.49 (Question Id - 92)
Although his friends are coaxing him to take a decision, he is .

(A) O hand in gloves with them

(B) O counting on them

(C) O sitting on the fence (Correct Answer)
(D) O reading between the lines

Question No.50 (Question Id - 89)
Arrange the following phrases (A - D) in a proper sequence and complete the sentence

given below :

It was to be

A. before their school examination
B. which was due to start

C. the last expedition

D. in a month

Choose the correct answer from the options given below

(A) O D,C,B,A
(B)O AC,B,D
(C)O B,AD,C
(D) O C, A, B, D (Correct Answer)

Question No.51 (Question Id - 81)
The beginning of the sentence is provided. Arrange the options provided in proper order

to make the sentence meaningful :
Since the beginning of history

A. Have managed to catch

B. The Eskimos and Red Indians
C. By a very difficult method

D. A few specimens of this aquatic animal

The proper sequence is :

(A O C,D,B,A
B)O D,B,C,A
(C) O B, A,D, C (Correct Answer)
(D)O A,B,D,C




Question No.52 (Question Id - 21)
Marie Antoinette was born in which country ?
(A) O Russia
(B) O Austria (Correct Answer)
(C) O Poland
(D) O England

Case Study - 53 to 56 (Question Id - 93)

In the field of science, one of the distinguished names is that of Madame Marie Curie. She, along
with her husband, Pierre Curie, discovered radium that is widely used in the treatment of cancer. Pierre
and Marie’s amicable collaboration later helped to unlock the secrets of the atom.

Born in 1867 in Warsaw, Poland, Marie displayed a brilliant and blithe personality at an early age.
Her great exuberance for learning prompted her to continue with her studies after school. She became
disgruntled, however, when she learned that the university in Warsaw was closed to women.
Determined to receive a higher education, she defiantly left Poland and in 1891 entered Sorbonne, a
French university, where she earned her master’s degree and doctorate in Physics.

In 1895 Marie got married to Pierre Curie, another scientist, and together they spent many
productive years working together in the physics laboratory. After they discovered radium, Pierre was
killed by a horse drawn wagon in 1906. Marie endured heartbreaking anguish and the fact that she had
two young daughters to raise by herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she was made a physics professor at
Sorbonne, becoming the first woman professor at the world famous university. In 1911, she was
awarded the Nobel Prize for isolating radium. The long exposure to radium caused a fatal illness to her
but she never became disillusioned about her work and dedicated her life to science.

Question No.53 (Question Id - 94)
The Curies’ collaboration helped to unlock the secrets of the atom.

(A) O friendly (Correct Answer)
(B) O competitive

(C) O courteous

(D) O industrious

Question No.54 (Question Id - 95)
Which of the following options can be attributed to Marie Curie ?

(A) O Marie had a bright mind and a rebellious nature (Correct Answer)
(B) O Marie had strange and careless habits

(C) O Marie was kind and big hearted

(D) O Marie was humorous and distressed

Question No.55 (Question Id - 96)
What lesson can be drawn from the above passage ?
(A) O One has to study science to be intelligent

(B) O One should pursue his/her passion with complete dedication (Correct
Answer)

(C) O One should abide by the rules and not challenge authority
(D) O One has to be physically strong to achieve success

Question No.56 (Question Id - 97)
Even though Marie Curie became fatally ill due to exposure to radium, she was never




(A) O troubled
(B) O disturbed
(C) O disappointed (Correct Answer)
(D) O delighted

Question No.57 (Question Id - 49)
Read the passage and choose the most appropriate option:

Aruna is 12 years old. For two years she has been asking her parents for a pet cat. Her
parents told her that a cat may not be happy in an apartment. But they have given her
permission to have a bird. Aruna has not yet decided what kind of bird she would like to
have.

(A) O Aruna’s parents like birds more than they like cats

(B) O Aruna does not like birds

(C) O Aruna and her parents live in an apartment (Correct Answer)
(D) O Aruna and her parents would like to move

Question No.58 (Question Id - 76)
Complete the following sentence.
I've never those words before.

(A) O gave away

(B) O come across (Correct Answer)
(C) O come over

(D) O come into

Question No.59 (Question Id - 1)
Which river runs through Pyongyang, capital city of North Korea ?

(A) O Nakdong River

(B) O Imijin River

(C) O Han River

(D) O Taedong River (Correct Answer)

Question No.60 (Question Id - 15)
Who was the first Chancellor of the Federal Republic of Germany ?
(A) O Konrad Adenauer (Correct Answer)

(B) O Willy Brandt
(C) O Freddie Mercury
(D) O Angela Merkel

Question No.61 (Question Id - 28)
Arrange the following events in the correct chronological order :

A. Meiji Restoration

B. Pearl Harbor

C. World War |

D. Japanese Annexation of Korea

Choose the correct answer from the options given below




(A) O A/B,C,D
(B) O D,A,B,C
(C) O A,D,C,B (Correct Answer)
(D)O D,A,C,B

Question No.62 (Question Id - 57)
Arrange the following historical events in the correct chronological sequence :

A. Treaty of Maastricht is signed

B. Death of Charles de Gaulle

C. Creation of the European Coal and Steel Community
D. Treaty of Lisbon is signed

Choose the correct answer from the options given below :

(A) O C,B,A,D (Correct Answer)
B)O A D,B,C
(C)O C,A,D,B
(D)O B,D,C,A

Question No.63 (Question Id - 78)
Complete the following sentence.

As the Principal into the meeting room, the coordinator handed him the
report of all the teachers.

(A) O is coming

(B) O came (Correct Answer)
(C) O was coming

(D) O comes

Question No.64 (Question Id - 14)
When was the Berlin wall built ?
(A) O 1959
(B) O 1961 (Correct Answer)
(C) O 1969
(D) O 1989

Question No.65 (Question Id - 60)
Who wrote Paradise Lost ?
(A) O Shakespeare

(B) O Bacon
(C) O Milton (Correct Answer)
(D) O Burns

Question No.66 (Question Id - 55)
Light Year is a measurement of :
(A) O Sound

(B) O Depth
(C) O Frequency
(D) O Distance (Correct Answer)




Question No.67 (Question Id - 12)

Match the following :

List - 1 List - 11

A, Alexander Pushkin |Il. Hero of our times

B. Mikhail Lermontov [ll. Evgeniy Onegin
C. Leo Tolstoy Il Ward No. 6

D. Anton Chekhov IV. Anna Karenina

Choose the correct answer from the options given below :

A)O A-I,B-Il,C-llILD-IV
B)O A-IllLB-IV,C-1,D-1ll
C)O A-I,B-I,C-IV,D-Illl (Correct Answer)
)

(
(
(
(D)O A-IV,B-1Il,C-1I,D-I

Question No.68 (Question Id - 4)
Supreme leader of North Korea is :
(A) O Kim ll-sung
(B) O Kim Jong-il
(C) O Kim Jong-un (Correct Answer)
(D) O Kim Il-jong

Question No.69 (Question Id - 62)
What is the full form of GIAN ?

(A) O Government Incentives for Artistic Nomenclature

(B) O Global Initiative of Academic Networks (Correct Answer)
(C) O Global Initiative for Active Networking

(D) O Government Initiative of Academic Novelty

Question No.70 (Question Id - 19)
Which is the city of origin of the “Novel Corona Virus” in China ?

Question No.71 (Question Id - 34)
Gulistan is written by :
(A) O Firdausi
(B) O Hafiz
(C) O Rumi
(D) O Saadi (Correct Answer)

Question No.72 (Question Id - 40)
Choose the correct pair :
(A) O Arabic - Astronesian

(B) O Pashto - Sino-Tibetan
(C) O Aramaic - Semitic (Correct Answer)
(D) O Hebrew - Indo-European




Question No.73 (Question Id - 45)

Fill in the blank with the correct word from the list given below :
Gravity is related to Pull in the same way as Magnetism is related to

(A) O Repulsion

(B) O Attraction (Correct Answer)
(C) O Push

(D) O Pull

Question No.74 (Question Id - 66)
“Salma Dam” was built by Indian Government in Herat Province on the river :
(A) O Kabul River

(B) O Amu Darya
(C) O Hari Rud (Correct Answer)
(D) O Pamir River

Question No.75 (Question Id - 65)
Arrange the following in order :

A. Chandra Gupta Mourya
B. Mahatma Gandhi

C. Bindusara

D. Ashoka

Choose the correct answer from the options given below :

(A) O A/B,C,D
(B) O B,AC,D
(C©)O Db,C,B,A
(D) O A, C,D,B (Correct Answer)

Question No.76 (Question Id - 71)

Here are some words translated from an artificial language :
moolookarn means green tea

wilkospadi means hot water

darnwilko means piping hot

Which word could mean “hot tea” ?

(A) O wilkozwet

(B) O wilkokarn (Correct Answer)
(C) O moolospadi

(D) O darnspadi

Question No.77 (Question Id - 2)
The official name of South Korea is :

(A) O Democratic Peoples’ Republic of Korea
(B) O Republic of Korea (Correct Answer)
(C) O Republic of Joseon

(D) O Democratic Peoples’ Republic of Joseon

Question No.78 (Question Id - 70)




Who won the 2020 under-19 Cricket World Cup ?
(A) O India

(B) O Australia

(C) O England

(D) O Bangladesh (Correct Answer)

Question No.79 (Question Id - 44)
Find the missing number in the series given below :
3,12,27,48, 75,108, __?
(A) O 147 (Correct Answer)
(B) O 183
(C)O 162
(D) O 192

Question No.80 (Question Id - 33)

Match the following currencies with their countries :

List - | List - I
A. Somoni |I. Turkmenistan
B. Rial Il. Turkey
C. Manat |[lll. Iran
D. Lira IV. Tajikistan

Choose the correct answer from the options given below :

(A)O A-IV,B-Ilil,C-1,D -1l (Correct Answer)
B)O A-I,B-Il,C-1,D-1V
(C)O A-Ilv,B-lll,C-1I,D-1
(D)O A-lILB-IV,C-1,D-1

Question No.81 (Question Id - 53)
The Atacama desert is found in which country ?
(A) O Mexico
(B) O Panama
(C) O Chile (Correct Answer)
(D) O Spain

Question No.82 (Question Id - 7)
Who is the author of Don Quixote ?
(A) O Shakespeare
(B) O Cervantes (Correct Answer)
(C) O Hugo
(D) O Keats

Question No.83 (Question Id - 42)
Find the missing part :

QPO, NML, KJI, , EDC

(A) O HGF (Correct Answer)
(B) O CAB
(C) O JKL




(D) O GHI

Question No.84 (Question Id - 79)
Find the appropriate response.
| don't eat meat :

(A) O Eitherdo |

(B) O Neither do I (Correct Answer)
(C)O Sodol

(D) O 1dotoo

Question No.85 (Question Id - 59)
The following three languages have the same graphic form :

(A) O Chinese, Japanese, Vietnamese

(B) O Chinese, Mongolian, Russian

(C) O Chinese, Japanese, Korean (Correct Answer)
(D) © Chinese, Mongolian, Malaya

Question No.86 (Question Id - 39)
Who is the current President of Tunisia ?
(A) O Rached Ghannouchi

(B) O Kais Saied (Correct Answer)
(C) O Habil Jemil
(D) O Youssef Chahed

Question No.87 (Question Id - 50)

Pointing to a gentleman, Ramesh said “His only brother is the father of my daughter's

father.” How is the gentleman related to Ramesh ?

(A) O Uncle (Correct Answer)
(B) O Grandfather

(C) O Brother-in-law

(D) O Father

Question No.88 (Question Id - 72)

In a given language, skoorirr means good boy, glorirr means tall boy, katzho means
short girl, and katrirr means short boy. Which of the following means ‘tall girl’ ?

(A) O zentaga
(B) O glozho (Correct Answer)
(C) O katskoo
(D) O zhorirr

Question No.89 (Question Id - 6)




Match the countries with their capitals :

List - | List - 1
A. Colombia |l. San Jose
B. Uruguay |[ll. Santiago
C. Costa Rica |lll. Montevideo
D. Chile IV. Bogota

Choose the correct answer from the options given below :

(A)O A-IV,B-Ilil,C-1,D -1l (Correct Answer)
B)O A-I,B-1IV,C-IIl,D-1
C)O A-I,B-I,C-Iv,D-1ll
(D)O A-lILB-1,C-1,D-IV

Question No.90 (Question Id - 11)
The Russian novel War and Peace was written by :
(A) O Nikolai Gogol
(B) O Viktor Pelevin
(C) O Leo Tolstoy (Correct Answer)
(D) © Anton Chekhov

Question No.91 (Question Id - 91)
If you are aware of a crime and ignore it, you are the crime.

(A) O absolved of

(B) O innocent of

(C) O exonerated of

(D) O compilicit in (Correct Answer)

Question No.92 (Question Id - 31)
Panini, a famous Sanskrit grammarian, lived in :
(A) O Taxila
(B) O Gandhara (Correct Answer)
(C) O Nalanda
(D) O Mathura

Question No.93 (Question Id - 68)
Rub’ ul Khali (The Empty Quarter) is :
(A) O The largest desert in Saudi Arabia (Correct Answer)
(B) O An Oasis in Yemen
(C) O Arriverinlraq
(D) O The largest supermarket in Dubai

Question No.94 (Question Id - 5)
Which of the following is a famous clothing brand from Spain ?
(A) O Levis
(B) O Mango (Correct Answer)
(C) O Pepe Jeans
(D) ©O Numero Uno

Question No.95 (Question Id - 69)




Which planet is known as the blue planet ?
(A) O Mars

(B) O Venus

(C) O Earth (Correct Answer)

(D) O Neptune

Question No.96 (Question Id - 88)
Fill in the blanks :
Ravi is in everything. He always keeps himself

information in his field. He never shies his responsibilities.

(A) O particular/abreast /away of

(B) O meticulous/updated/away from (Correct Answer)
(C) O laggard/updated/of

(D) O disciplined/armed/of

with the latest

Question No.97 (Question Id - 30)
Afghanistan got independence from British rule in the year :
(A) O 1919 (Correct Answer)

(B) O 1929
(C)O 1939
(D) O 1949

Question No.98 (Question Id - 22)

Match List - | with List - 11 :

List - | List - 11
A. Victor Hugo I. The Qutsider
B. Simone de Beauvoir |ll. Around the World in Eighty Days
C. Jules Vernes Ill. Les Miserables
D. Albert Camus IV. The Second Sex

Choose the correct answer from the options given below :

A O A-lIlLB-IV,C-II,D -1 (Correct Answer)
B)O A-1,B-1l,C-Ill,D-1IV
©O A-IL,B-1II,C-I,D-1V
(D)O A-IV,B-1l,C-I,D-1l

Question No.99 (Question Id - 75)

In a certain code FIRE is written as DGPC. What will be the last letter for the coded word

SHOT ?

(A)O Q
(B) O R (Correct Answer)
(C©)O s
(b)O P

Question No.100 (Question Id - 23)
The river La Seine flows through which of the following city ?

O




(A) Madrid
(B) O Berlin
(C) O Paris (Correct Answer)
(D) O Rome




